,& J
K
Ay
0

L
,,_ma
e

Nfo

ojn

2 4185
he Ao w
%

@
SEE




S = 10 Bt 22 3 o] Hjdo] A

@D {1, 3, 6} @ {2, 3, 6}

e gatayos e

@6, 6 9

@ {1, 2, 3, 6 ® {3, 6, 9, 12}

{x | x= 10E T 22 39] Hi) = (3,

6, 9}




3.

AT A = {ax 129 95} ), A c BE VS

@ B = {xlxE 109] #i5}

@ B = {xlx= 20 H|7O] &}
® B = {xxt 39 v}
@) 5 = {air 249] o5}

© B = {xxi= 69] o5}

Sl= B E 11 2H?

~&B

A={1, 2, 3, 4, 6, 12}
® B = {10, 20, 30, 40, ---}

@ B=1{2, 4, 6,8, 10, 12, 14, 16,18}
®B=1{3, 6,9, 12, ---}

@ B=1{1, 2, 3, 4, 6, 8, 12, 24}

® B=1{1, 2, 3, 6}




@o @1

® 2

O = YehfH

A = {x| xE 49 °F5)

x = 19]t},

A=Bold £ Pge| BE ¢

47} vk 9% A S Aata

i)

=1{1,2, 4 ={1, x+1, x+3}°|BEE




AARAT U = (1,2,3,4,5,6,7) 2] F ZEHT A, Bol| thdto] AUB® =
(1.3.4.57) 4 o, Y& An B BE 40| F& Fo1H?

@8 @ 9 ® 10 @ 11 ® 12

A°U B = (AN B)°
L ANB={2,6)
L2+6=8




@ {1, 2} {1, 2

® {1, 2)c{1, 2}
@ @ c {0}
®1ef{l, 2}




@ 374 @ 47

@

@ 871

{1,2,3,4,5)°14 X c A, A - X = {1,3})& T=ohe

® 1574

E?lﬂ

252 -1 =17(7H)

X



8.

A AT A = (x| x= 69 ), B= (x| x= 89 o), C = (x|
xE 129 oFF of Histed An (BUC) =7
D {4,8) @ {1,2,4,8)

® {1,2,6) @{1,2,3,6}
® {1,2,3,4,6,12)

B \

ZAAA RS Azt
2

=0




AT A = (x| 2 48 oI5ke] 49] Hh),

chet 2

2 Wl cholo] el A AR

A B

@ (4,8,10 @ {4,6,8)
@)4,5.12) ® (4,8,12,16)

B =
Ho
=

{4,6,8,10,12} &
e WL

® {4,6,12}




10. AAAL U = {1,2,3,4,5,6) o] FZHl A = {1,2,3},B =
o

{2,3,4,5},C ={3,5,6} 4 ™, (AnB)NC* 7
@) @ ® {1,2)
@ {2,4) ® {1,2,3}

(ANB)NC* = (ANB)-C = (2,3} - {3,5,6} = {2} °|t}.




11.

{a, b, ¢, d} O] F&

A7F?

D1

® 3

®:

® 5

B

A {a, b, c, d)
a7t oNA A
Hazb1hd A
A471 270
HAa7E 370
{a, b, c}, {b, c, d
Hazb4a7hd

S o
PAUEBOE

==

N
rlo

Mo rlo rlo rlo 1o,

Q _lE
HT
o
)

a}, {b}, {c}, {d}
a, b}, {b, c}, {c, d}, {d, a}

{c, d, a}, {a, b, d}
{a, b, c, d}




12. A A=1{2,3,a+2},B=1{3,5a ol tsted,
AUB={2,3,45 4 o, & AnB =7

@ {2) @ 3) © LX)
@ {2,4) ® (2,3,5)

a+2>a0B2a+2=4,a=2
A=1{2, 3,4 ,B={2, 3, 5}
LANB={2, 3}




13.

100 9] 34 5 Folg Fobshe S 65, 458 Fotele

= = =
g2 52 olth Qoo 45ke B Folst sh40] HARE
M, F&gE mol=t & W, M —m O] gh& F-5HY

@D 65 @ 52 @ 48 @®)35 ® 17

AAATEE U, 9
A o] X3k
}e ANB

= =] 1
Fofot=

9] 3

I 1ok

ol

(i) n(AUB)=n(A)+n(B)-n(ANB)--- A
n(AUB) <n(U)=100--- ©
@, ©1A 100 > 65 + 52 — n(A N B)
n(ANB) > 65+ 52—100 = 17
s n(ANB) =17

(i) n(ANB) <n(A)°lal n(ANn B) <n(B)
wHebA] n(A N B) < 65°]1L n(A N B) < 52
- n(ANB) <52
(i), (ii)°llA 17 < n(AN B) < 52
L M=52, m=17T M-m=35




A,B,C,D %}

&

Y2 919l 7

M o

o W

@ (AUB)-(BnC)

@ (A-B)U(B-A)

@@uvo)-@nc)

® (B-C)u(C - B)

® (B-C)u(C-B)




15.

AAAF U o F FE-T A, Bl thot] 54 (ANB)U(ANB°) = U
7V RS o, oh2 5 A, BAMOlS] BAIE 7S 2 VrERdH A2
® AUB=U @ ANB=B ® A-B=0w
@)A:B ® ANB=0g

B

(ANB)U(A°NB°) = (ANB)U(AUB)® =

U
ol Wittolo] g T2 H A Sk F
B Z(A-BUB-A) =032
Qrt. WEtH A-B=0°|1 B-A=0

(WPUQ=0°lH P=0g°]|1 Q=0)
ACB, BCA(-P-Q=0°HPcQ)
L A=B(: PcQ, QcPolH P=0Q)




